Test 2A - M1 1oLy
Dr. Ciraham-Squire, Spring 2017
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1 pledge that 1 have neither given nor received any unanthorized assistance on this examn.

DIRECT TONS

1. Don’t panic.

9. Show all of your work and use correct notation. A correct answer with insufficient

use correct notation

vork or incorrect notation will lose po.ula.
3. (Clearly indicate your answer by putting a box around if.

4. Cell phones and computers are not allowed on this test. Calculators are allowed on
the first 3 questions of the test, however you should still show all of your work. No
calculators areé allowed on the last 3 questions.

5. Give all answers i exact form, not decimal form (that is, put ™ instead of 3.1413, V2
instead of 1.414, etc) unless otherwise stated.

_p+ /b2 —4ac

6. If you need to use the quadratic formula, it 1s 5
a

7. Make sure you sign the pledge.

8. Number of questions = 10. Total Points = 65.
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on the interya] [-5 ,3]. Make SUre to show yoyy work!
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9. B points) Michael wants O build a rectanguias v =

(’\/‘:u(’jf

eating figer. gince the pen is next to his house, Michael only needs to DULA O D
to the pen—two gides will be pe.rpendicular to the house, and the other gide parallel.
Since the parallel gide is visible to his neighbors, he wants to make that side out of nice
cider pickets, at a cost of ¢8 per linear foot. The other two sides he will make out ot
a cheaper steel fencing which only costs $5 per running foot. 1f he has $500 to spend
on building the pen, what are the dimensions that will give & maximum area for the
pen? Use calculus tO find the answer, and make sure 0 show your work! Round your

answer(s) to the nearest 0.1 foot.
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(6 points) Use calculus to fi
if it exists. If it does not exist, write NONE. You can us

double-check your answer, but you must use calculus and

full credit.
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3. (6 points) Helen s at the
on the water coming
100 feet /minute oy t
vy i
pﬁwl fu e S and the hoat changi
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toward her. Su

g at a constant speed .
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6. (8 POINLS) FUL vme oo
item exists, put DNE. Explanations are not MECesSsary, wuv sy o

your answer is wrong.
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(a) The interval(s) where f(zx) is decreasing, if any exist. %

(LD (2,3 (3,5)

as relative maximum(s), if any exist.

(b) The (z,y) coordinates where f b

1) Crs) e (2,3)

o““y
(¢) The interval(s) where f is concave up; if any exist.
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(d) The (z,Y) coordinates of the inflection point(s) of £, if any exist.
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imum value of f on the interval [—6.5; 9], if it exists.
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(e) The absolute min
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8. (5 points) Use logarthmic differentiation to calculate the derivative of

VE- (2= 3)
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Ew*\* You do not need to simplify YOur answer.
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9. (6 points) Find the function f(z) if f'(z) = 182® + 5¢* and f(0) = 3.
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10. (6 points) Calculate the antiderivative. Show your work for full ?s: /
3003 (3 47 4 d -z,
= = gl +7

_ . -3
Au = —6X

e \_,;/5/ .uq\ f—(ii— —
”}3 7 f;/’> -
/ \/ = -

- N Y .
jb/u o i”f = A
v

_ S L
=y fC

- /532 -f?) ?% C_

Extra Credit(up to 3 points) You can choose to have either 1 extra credit point or
3 extra credit points. If you choose 1 point, you are guaranteed to get 1 point. If you
choose 3 extra credit points, and 3 or more students in the class (including yourself)
choose 3 points, then everyone who chose 3 points will get NO extra credit.
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